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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
IIEHAHSEMRHE ZH XNB(BEX) 70,739 83,608 A 12,869
= 70,739
101 @14 Hl 70,739 83,608 A 12,869
= 70,739
01 2= 70,739 83,608 A 12,869
OJZHAHSEAMNR 212HHI(18Y)
70,739,000& » 14! 70,739
= 70,739
HRAAL S EAMEIAME(BX) 17,477 18,310 A 833
= 17,477
101 @124l 7,607 12,280 A4 ,673
= 7,607
01 2= 7,607 12,280 A4,673
ONAZR 1AHI (1Y) 7,607,000 » 14 7,607
= 7,607
201 L2l 9,870 6,030 3,840
= 9,870
01 At 22l 9,870 6,030 3,840
oAM= MH & AREZ 7Y
2,000,000& *331+30,000& 6,030
= 6,030
OGZEALEZ =2 WAHI(OIHRA 29)
8,000& x8H x5 x 128 3,840
= 3,840
2 -S4 &#FH I L3t 5,937,946 7,379,983 AN 1,442,037
= 71,316
Al 5,866,630
HY S HEFH 2H 2,026,061 5,220,940 A 3,194,879
< 46,316
Al 1,979,745
FE2SNY 2E 1,074,762 1,714,654 A 639,892
201 Let249] 804,112 1,035,396 A231,284
01 At 22l 14,668 14,504 164
O=ZeH X 10,648
O=& I E14(65940) 1,600, 000& *42] 6,400
O=&IIE4(62925) 990,000 *43| 3,960
O & U (DGIWOX) 72,000& +1CH 43| 288
OHZF MBS T QI 6003 2,000 *23| 2,400
OUXNEY AREH |X 60,000 =27 CH 1,620
02 2324l 789,444 1,020,892 A 231,448
OYEHNMS MEZ 138,032
OIPHEDl JIE2g 2,000& 1203 & 128 2,880
OgerEst Jlezg 4,000 223 & +12& 1,056
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M mY S0 #F JY L
Sl BE SHY UFE 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OPRI3/ & & (ISDN) 132,000 *43| & x12& 6,336
OdstAIBE (2, &atoa)
12,670,000& =81 & 101,360
OSMS/MMSOl 8 = 2,200,000& 123 26,400
OHFFEZSHL UERIANE RAE=>
2,044,855,090& x7/100 143,140
Oel0lAAE RXE2 52,190,000 *8/100 4,176
OL=SEXANE SUPC B2 15,600
OkeISXTALE S1PC R A
480,000 *650CH *5/100 15,600
OFSE=X-IFaN=3 461,856
O=)tdESAYUHY HE2d=
1,854,000& »12& 22,248
OHE=ZOIHY 3= (AtaHII2)
675,000 603 & «8& 324,000
OZ-Al2t =JHEESHY H8HE
4,428,000& x12& 53,136
OANUNME3Hd2(TD) 34,000&4+913| d 128 37,128
OMEBaAMNRAL HEIHZ 500,000& »12& 6,000
OltsgsAAY d83d=
6,500 x248J1 Ot S +12& 19,344
OUYATTAIAY ST
37,000,000% 184! x4/100 26,640
405 XHoHF S HI 270,650 341,350 AT70,700
01 AL EZFH S 270,650 341,350 AT0,700
OL: #Wa2AAX Wi 79,450,000 »24! 158,900
OUERNZD SLE PoEARIX +E 22,200
OP24ZE PoEARIX 7 ¢ 1,460,000& » 104! 14,600
O8EE PoEARIX #¢Y 760,000& x 104! 7,600
OgRE HFAMSII(IPESEI]) 7L
450,000& = 100CH 45,000
OdFH3 2HE AH s He
44,550,000& * 14 44,550
fclits Sdlel=et gt 597,125 0 597,125
< 46,316
Al 550,809
201 Let24d] 126,228 0 126,228
02 =24l 126,228 0 126,228
ottsgs A2 SX 6,311,400,000+2/100 126,228
301 LEEHZ 12,500 0 12,500
12 JIEBHE4& S 12,500 0 12,500
OARY B W2WS A2
50,0003 «1H+252 108 12,500
308 XX EHH SOl A 71,009 0 71,009
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Sl BE SN OFF 2y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
07 IXNHMAR S = 71,009 0 71,009
OHA S2240/00 38
17,0202 «68CH 128 13,889
Os0E 2059 N&3
3,360,000& <1700 Ot=2 57,120
405 XHoHF S HI 387,388 0 387,388
< 46,316
Al 341,072
01 et EZFH S 387,388 0 387,388
OLS IISLHYSAAY
=411 250,000 674K CH+5 &1 D1 4,500,000 200,000
#7402
OltSRHESAIAHE =8| B4
220,000 » 150 I CH 33,000
OADIE DISYSAAY 2F
154,388,000& 14! 154,388
< 46,316
Al 108,072
QIASHH 22 354,174 353,539 635
201 LBt 21,875 22,572 A 697
02 =224l 21,875 22,572 A 697
O2HH A2ZE/NH SXE=H
175,000,000& *12.5/100 21,875
307 glz2tol & 332,299 330,967 1,332
05 RIZtE = 332,299 330,967 1,332
OSdH 2F 2U2AE 3,461,440 +«8H 128 332,299
AQLE QHAEA 2E 1,377,013 0 1,377,013
< 25,000
Al 1,352,013
A QI EOLN =t 1,377,013 0 1,377,013
< 25,000
Al 1,352,013
201 et 748,413 0 748,413
02 2324l 748,413 0 748,413
Oz CCTV 883l 0l8x
80,0003 *3990H 4 x8& 255,360
g S8 A2+
310,000,000 =14 310,000
i CCTV dJIe3  20,000& *399H & 122 95,760
FSAAE S 12,593
AF ALY RXNES
56,513,000& *4/100 2,261
122 12,300& #7032 &+ 123 10,332
dg368=
55,0003 «450 2128 29,700

_5_




SN U™
M HE -S4 #HE Dg 25t
ol ADIE QAT Al PE EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O4otl| 2 SaLs &= dE3HE
150, 000& *253| & x 122 45,000
401 Al& Bl 28I 270,000 0 270,000
< 25,000
Al 245,000
01 A& HI 270,000 0 270,000
OARIotE CiDls YHAAH &X
20,000,000& *109H £ 200,000
OMaotd HHZCCTV &X XA
25,000,000& »24! 50,000
< 25,000
Al 25,000
OMEOIE HHBCOCTV 4% N (ZLIR00
) 20,000,000& =14 20,000
405 XHoHF S HI 358,600 0 358,600
01 XL 2 ZFH S| 358,600 0 358,600
OCCTVEEg 2 HHdH AELCXN 2
33,200,000 »34! 99,600
OADIEANEN(Z2Y) SEEAS 715
150,000, 000& * 14 150,000
omHM B AJE TV 7
9,000,000 = 1CH 9,000
OM3tA: L= HSACCTV WA
10,000, 000& *10CH 100,000
HdUXNYEE 28 1,876,794 1,489,940 386,854
HEHES =& 857,940 482,920 375,020
201 Let24d] 47,800 53,500 25,700
01 At 2teltl 47,800 53,500 25,700
OB LS M2 %Y IS ASD =
5,000,000& x43| 20,000
OZFH & ZEH =&4l 100, 000& »250CH 25,000
OHMSA EHIRAA =Y
70,0003 *2 Al 2t 10H +23] 2,800
207 A& H| 317,440 209,420 108,020
02 & AR b 317,440 209,420 108,020
OHFTHRE 2TEY N 2 179,440
OMS SEL2ZEAN 222,400& 3002 66,720
Otz Il A 117,000& 4002 46,800
OAdobe SEAZEAN 1,175,000 302 35,250
OgRE RELEI(LEZX) 9,700 *1,100=2 10,670
OAutoCAD Subscription 2t0l& A
1,000,000& 202 20,000
O2URED|Et HEANY S& EHS 7= 61,000
OCHEEMNY S& S35 2% 2ZEAA 2
= 61,000,000& » 14! 61,000
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Sel F@RNLFE CERED
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S - BB () - HEAY - BES Ol At o %@i HRE2
o2-Lel 852.0 2582 BAIZTEYN 77,000
OS2 K0RM AH2 = 21,580,000 =14 21,580
OS2 KDORM 22I0|9E 2 &
41,890& 1,000 41,890
OS2 KDRM APl 2 & 13,530,000 =14 13,530
403 XX SHHS K20 & 156,000 0 156,000
02 2I2S0 e A=2EAEAIE Y 156,000 0 156,000
o2-Udt 2M2.0 £ 75
156,000,000 =14l 156,000
405 XHAHFEIEHI 336,700 220,000 116,700
01 XAt 2 EF S| 336,700 220,000 116,700
o2-Ltet2.0 258 J|8tEH &4
79,700,000% 14! 79,700
O2ctRED|E HEAIY S8 ZEE 2= 257,000
OkLs: 2225 Hdl WA
257,000,000& * 1Al 257,000
HEMBAIAE S| 22 310,319 325,345 AN 15,026
201 et 272,601 283,531 A 10,930
02 2324 272,601 283,531 A 10,930
OZFEH & T2y SAEZE 100,000 x200CH 20,000
OXFBANAY ESSANES
20,000,000 1200 & 240,000
OSE =2 AANAE RAE%
620,000 *1200 & 7,440
OATEAN AM22AAE SXNE 5
39,700,000 *13% 5,161
308 XX SHHSOIH 37,718 41, N4 ,096
11 BI2SUHUSHEAEE A Y| 37,718 41, A4 ,096
O2-LIctAlAE 2HX2 L A2 S/W SN
= 7,718,000 =14l 37,718
LS PC A A 195,500 480, A 284,500
405 XH&HF S HI 195,500 480, A 284,500
01 XAt = ZE F S HI 195,500 480, A 284,500
OuUHME ™AZEH P 195,500
OPC 900,000 *170CH 153,000
O2LH 250,000 =170CH 42,500
HEMASS 2SS AY 19,180 15, 4,010
201 et d| 5,180 3,830 1,350
01 AP 2t 2| H| 4,100 3,830 270
OF0NFEUE 29 4,100
O&E3tn= Wi 9,000& 4008 3,600
OuU=s& MAEH =44 500,000 *13] 500
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SN U™
My HE . S4 BF Y 2s
ol MRNYES 2 (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 2224 H| 1,080 0 1,080
OXES IR RHOUHY 22
45 000 2 = 12& 1,080
301 et A= 14,000 11,340 2,660
12 JIEtE2 A= 14,000 11,340 2,660
OFEBESNE LA
35,000 x2 Al 2tx10L *203] 14,000
ANEEES =& 56,920 56,920 0
201 et 9| 56,920 56,920 0
01 AP 22| H| 1,680 1,680 0
OZMHO0IX SO AMHA OlEZ
70,000& «12& 840
OMESAEXUJAET BOEOAHA Ol
70,000& «12& 840
02 E22%H| 55,240 55,240 0
OFMN=E JIMNSAAE SIES
70,000, 000& *8% 5,600
OZHOIXN |SXNE 330,928,000 *15% 49,640
AXSH 2E018 =&Y WM KNS (XHA) 249,475 129,585 119,890
308 XHXIEHH S0l & 121,475 119,585 1,890
1122 S0 USHE A EAE A Y| 121,475 119,585 1,890
OXXIEHM 2SD|8HMAEH S22
103,749,000 =1 103,749
O3St Mol=sSPAMALE KX 2
11,266,000 » 1 11,266
ONYHEBTEYZANAY ZESH XA Y|
6,460,000 1 6,460
405 Ko SHI 128,000 10,000 118,000
01 AL 2 ZF S H| 128,000 10,000 118,000
OZ2ED|8t SSAEZX S& 2=
128,000,000 =14l 128,000
SSABSAIEF=A 187,460 0 187,460
207 SO0 £ 103,650 0 103,650
02 & AHJH EHH| 103,650 0 103,650
OAMRANMBAAH = 4,400,000 1Al 4,400
OYLXNCIZTEXNAHE HUHHA AL 2=
40,000,000 =14l 40,000
OLZEERA XJIHX 323 X3AY
10,000,000 =1 Al 10,000
OASIHZE DMK HE AMHIA 25 49,250
OO0IMSX the AlAdY =2 ATE O
¢ 49,250,000 x14! 49,250
401 Al HI L 2 0HHI 20,000 0 20,000




SN U™
My HE . S4 BF Y 2s
Sl MY P (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 20,000 0 20,000
OACIHMZE DIMEHX e AHlA &X
20,000,000 = 14! 20,000
405 XHoHE S| 63,810 0 63,810
01 XA 2 ZF S| 63,810 0 63,810
OANBIHZE DIMSX HE AHIA 2= 63,810
OFR=EE olEANH 7L 63,810,000& = 14! 63,810
Orales ™ Pal 658,078 669, 103 A11,025
dEHsS g2 =4 6,925 7,750 N 825
201 et 9| 6,925 7,750 N 825
01 AR 22l ] 5,905 6,730 N 825
OXZA Botweg, HeAMEBEWNE NS (EEX
2)&A Y A2 5,500 x550 8 3,025
OMOIMEES AAIXIIISHS Al AEI(SCLS) 1S
2,000,000 =14l 2,000
OHIL I A &2t oAt 10,0002 x485 480
OMIAEEES Xel A& 32|
200,000 x23| 400
02 Z2=2=24%H| 1,020 1,020 0
Oxne o222 30,0002 34 x 14 1,020
¥2E5 ALY 29 651,153 661,353 A 10,200
201 gEt24Hy| 377,203 377,203 0
02 B32ZH| 377,203 377,203 0
OMOIHEWMNUNWSHEH XL BESA ZotHH &S
g SN2 1,943,964, 0002 *10%* 1 194,397
OFBESATEYNH s SAE
1,244 ,880,000& *12%+ 1 149,386
OSEHAIANAE SXNE 1,118,330& x12& 13,420
OMeIAERE L AIOHRAE & tHauy
= 20,000,000& =14 20,000
207 & I & 177,150 117,150 60,000
02 & AW H| 177,150 117,150 60,000
OHSIA MHI A Botxltd Xct A
1,000,000& =16 K 16,000
OFBHEOAIAE FAH B2 L JIsIA
20,000,000& x13] 20,000
OPCEQH A ATZTEY O H2F 204
25,0002 *50004 12,500
OHI0l A BHAl AZ2F 204 50,150
oPCE YAl 26,000& 1, 300CH 33,800
O/ER AHE Al 360,000& «35CH 12,600
OclsA AuE gl 750,000 504 3,750
OIfXIOHLI N 2ol A 2 37,000& *5004 18,500
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M mY S0 #F JY L
CHol: OHMle#E T (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OPCHHIBERES &2H 153 60,000
OMAHEEES EFE AHS
24,000,000 =120l & A 24,000
ONEEES £2H PCE
72,000& 5002+ 01 & A 36,000
405 TtHabF S| 96,800 167,000 AT70,200
01 AL EFHS 96,800 167,000 270,200
o= =2¢ 101E 96,800
O3MHAHZ Lt 48,500,000 = 1CH 48,500
O ol At gl 48,300,000& «1CH 48,300
HE2IZH(UAFZE 93,084 104,256 A 11,172
24l 93,084 104,256 A 11,172
gt2d i 93,084 104,256 A11,172
201 LBt2d| 38,544 43,056 N4,512
01 At 22l 38,544 43,056 A4,512
O= &l 8,0003 x22F 7L 128 14,784
O 2 et==EH| 90,000 x22H 128 23,760
202 odl 47,520 55,200 AT,680
01 =i 4 1l 47,520 55,200 AT,680
O=3UWoHl 180,000& »22H » 128 47,520
203 YR =2t 5,820 4,800 1,020
04 EA2IYRFLH| 5,820 4,800 1,020
ORN2IEYRF=AHI 485,000& 123 5,820
204 AR A H| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OXMG LR AH| 100,000& »12& 1,200




